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Part [1: (50 points)
1. {20 points) True/False/Uncertain-Iixplain using Equations, Graphs and Words, no points without correct

explanations)

The following are two ligures about country Magicland’s stock price index, interest rate and exchange rate

shown, Three true or false questions related to these plots are placed alter them.

Figure 1-1: Magicland’s Stock Price Index and Interest Rate
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Figure 1-2: Exchange Rate and Interest Rate
(Magicland’s currency/dollar) (%)
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Source: Magicland's central bank, Monthly Economic Survey Bulleiin | various issues.
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(1} (5) Figure 1-1 implies that Magicland is in a bear market when her central bank uses a loose monctary
policy.

(i1) {3) The interest parity condition can explain the relationship between Magicland's interest rate and
exchange rate as shown in Figure 1-2.

(iii) (10) These two figures sugeest that when the stock market is open to foreign investors then the autonomy

of monetary policy under the flexible exchange rate regime is fully guaranteed.

2. (30 points) Many demographers argue that population growth of Taiwan will reduce o a very low rate, for

example zero, in twenty first century. For the twentieth century, the population growth has been

approximately equal to two percent per year. Using the Solow model without technology progress 1o answer
the following questions. We suppose that rate of depreciation for capital is & = 0.1, K = 2.5V, the saving rate
| 185 =10.30, and capital receives 30% of GDP. Production function is assumed to be Cobb Douglas (¥ =
| AR
| r "
I

|

!

(i} (10} Compute the steady state levels of marginal productivity of capital lor both twentieth century and
the twenty first century.

(i1) {10} Forecast the effects ol this full in population growth rate on total output and output per worker.

(i11) (10 Suppose a new internet revelution will also occur in a few decades. The revolution is expected to
improve the future total factor productivity in Taiwan, We may predict that in the 21% century our
technological progress will speed up lrom zero to an annual growth rate of 2%. Forecast the effecis of this
increase in growth rate of total factor productivity combined with the fall in population growth rate on

total cutput and output per worker.




